Part No. Z1-909-220, 10020901
May 2020

G KIKUSUI

INSTRUCTION MANUAL / EXikEitaAE
Rack Mount Frame / w9722 b7 L—/L RMF4M (s specification)

The RMF4M is a rack mount adapter designed complying with JIS Standard for use on a stan-
dard rack.

RMFAM [ JIS BIRICH E DNWTREISNIBES v I ICDIAD D75 THTT,

Parts list / EBRiE R

Check that all parts are included and that the parts have not been damaged during transportation.
If any of the parts are damaged or missing, contact your Kikusui agent or distributor.

HREHEL HFEINTVWBEH, BELTVWRWLWIERL TLZIW, A—. BEXIERHE
DHODERLES, BATCRELEEMCSHVWGLELLE W,

Z
o

. Name / %71 Qty / {E%
Side plate / 1 RZL—hk (R) 1
Side plate / #f RZL—K (L)

Rails / L —JL (Front)

Stay / 57— (Upper)

Bracket for feet / IR 757 v

Blank Panel / 75 > 7 /XXl

Oval countersink screws / L4 U (M5 x 14)
Finishing washers / 1w 77 v ¥+ 5CW
Flat head screws / M4 (M3 x 6) 20

| O | R RN e

O©Clo Nl d|lW|N|PF

Assembly / $#H3IIT

Mounting of device / a8 DML T

1. Fix the specified rack-mount bracket at each of top and bottom of each devices, and

install the devices onto the RMF4M by temporarily disengaging @ front rail top and ®
blank panel.

ZFHBOLETIEEDSY I~V NB7 Sy NEERD 41 T RMFAM [T EAHAH F
T, ZOHBEQL—ILEID L, ELUVO@T 7/ %I Z2—BA U THMAATLES

LY,

2. To cover up an unused rack space, use a blank panel.
TZ720005BaE. TV INRKILERDFFIF TSIV,

Specification / {1t

Allowable Load / TEE{EE
Weight /| E82

Max.50 kg ( Max.110.23 Ib) / 50 kg A F
3kg (6.611b)/3 kg

/\ CAUTION /35

The instrument may fall. Install the suitable support angles applying to the
used rack system to support the instrument.
BERNETIT2RNDIHBDET, EETZ IV VICHEE LY R—KF

||
N

Support angle
YR—KFZV I

YN ERDMIF T, KEERFL TSIV,

FKEFIFEN®RARL
T224-0023 #EEMARXERILET-1-3
- FORA [BEEYR—NF17IV]
R 045-593-8600
E [SZI85R9) FH10~1213~17
www.kikusui.co.jp

KIKUSUI ELECTRONICS CORP.

1-1-3 Higashiyamata, Tsuzuki-ku, Yokohama,
224-0023, Japan

Tel: +81-45-482-6353
Fax: +81-45-482-6261

www.kikusui.co.jp/en [=] 2



Part No. Z1-909-220, 10020901
May 2020

G KIKUSUI

INSTRUCTION MANUAL / EXikEitaAE
Rack Mount Frame / w97~ ;7 L—/L RMF4 (EiA Specification)

The RMF4 is a rack mount adapter designed complying with EIA Standard for use on a standard
rack.

RMF4 [ EIARRIBICEH EDWTEREISNIZES vV ICDAD D75 75 T,

Parts list / EBRiE R

Check that all parts are included and that the parts have not been damaged during transportation.
If any of the parts are damaged or missing, contact your Kikusui agent or distributor.

HREHEL HFEINTVWBEH, BELTVWRWLWIERL TLZIW, A—. BEXIERHE
DHODERLES, BATCRELEEMCSHVWGLELLE W,

No. Name / %&Hi Qty / {E%
Side plate / 1 K7L — b 2
Rails / L —JL (Front)

Stay / X7 — (Upper)

Bracket for feet / BIFA 757w bk

Oval countersink screws / AL L (M5 x 14)
Finishing washers / 1w 77 v 2+ 5CW
Flat head screws / M1 U (M3 x 6) 16

N R N

Nl WIN|E

Assembly / &I T

Mounting of device / a8 DML T

3. Fix the specified rack-mount bracket at each of top and bottom of each device onto
the RMF4 by temporarily disengaging @ front rail top.

ERBOLTIEEDS Y IOV NET STy MZED 417 T RMFAM ([CHHIAH F
¥ ZDHBAQL —ILEID EHZ—FKAL THMAAATLIEE L,

4. To cover up an unused rack space, use a blank panel.

T3V DBER. TV INRKXIVERDFIFTIIEEZW,

Specification / {t#

Allowable Load / TS EE
Weight / E€

Max.50 kg (Max.110.23 Ib) / 50 kg AT
2.8kg (6.17 Ib) / 2.8 kg

/\ CAUTION /35

The instrument may fall. Install the suitable support angles applying to the
used rack system to support the instrument.
BEENETIT2R/NDHBDET, FERITZ Ty VICEE LT R—K8T
VTN ERDMF T FEFEXF LTS,

||
N

Support angle
YR—LTZVTIL

FKEFIFEN®RARL
T224-0023 #EEMARXERILET-1-3
- FORA [BEEYR—NF17IV]
R 045-593-8600
E [SZI85R9) FH10~1213~17
www.kikusui.co.jp

KIKUSUI ELECTRONICS CORP.

1-1-3 Higashiyamata, Tsuzuki-ku, Yokohama,
224-0023, Japan

Tel: +81-45-482-6353
Fax: +81-45-482-6261

www.kikusui.co.jp/en [=] 2



	INSTRUCTION MANUAL / 取扱説明書
	Rack Mount Frame / ラックマウントフレーム RMF4M（JIS Specification）
	Parts list / 部品構成
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Assembly / 組み立て
	Mounting of device / 機器の組み立て
	1. Fix the specified rack-mount bracket at each of top and bottom of each devices, and install the devices onto the RMF4M by temporarily disengaging ③ front rail top and ⑥ blank panel.
	2. To cover up an unused rack space, use a blank panel.

	Specification / 仕様
	CAUTION /注意

	INSTRUCTION MANUAL / 取扱説明書
	Parts list / 部品構成
	1
	2
	3
	4
	5
	6
	7

	Assembly / 組み立て
	Mounting of device / 機器の組み立て
	3. Fix the specified rack-mount bracket at each of top and bottom of each device onto the RMF4 by temporarily disengaging ② front rail top.
	4. To cover up an unused rack space, use a blank panel.

	Specification / 仕様
	CAUTION /注意


